
Serial No.

Checked By:

     Tech

     Date

Box 1 - NAVPILOT 711 Wt: 24 lbs  Dim: 13.25" x 14" x 28.5"

Part No. Description Quantity Yes Remarks

1 FAP7002 Processor Unit 1

2 000-157-482 Fuse FGMA 4A 4 SP64-01501

3 000-162-192-10 Cable Tie CV-80N 80mm 20 CP64-03101

4 000-158-850 Self Tapping Screw M4 x 20 4 "

5 IME-727-20Z Installation Manual 1

6 000-167-746 Termination Resistor 1

7 NAVpilot Sample Connection Diagrams 1

8 FAP7011C Control Unit 1

9 White Plastic Cover 1

10 001-081-140 Terminator Plug 1

11 001-081-180 Cable Assembly 15m 1

12 100-352-270 Mounting Sponge 1

13 OME-727-80Z Operator's Manual 1

14 MLG-727-80Z Operator's Guide 1

15 FAP6112 Rudder reference unit w 15M cable 1

PACKING LIST FOR NAVPILOT 711C

NAVPILOT 711

For Internal Use Only

FAP7011C

FAP611215 FAP6112 Rudder reference unit w 15M cable 1

16 100-328-060 500mm Threaded Connecting rod 1

17 009-001-180 Red End Bearing (RTB6) 2

18 100-328-110 Spacer, 11 mm oa 1

19 000-158-853 Hex Bolt, M6 x 40 2

20 000-158-854 Flat Washer M6 6

21 000-158-855 Spring Washer M6 2

22 000-158-856 Hex Nut, M6 6

23 000-158-850 Self Tapping Screw M4 x 20 3

24 PG700 Integrated Heading Sensor 1

25 001-533-080-00 NMEA2000 Micro Cable 6M 1 CP64-02800

26 000-162-605 Self Tapping Screws M4 x 16 3 "

27 000-158-856 Hex Nut, M6 6

28 000-158-850 Self Tapping Screw M4 x 20 3

rev 6/14

FAP6112

PG700

Page 1 of 1


